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Tutorial 5 - Craig’s interpolation theorem
7 November 2019

Exercises

If A |= B, then there exists a formula C, containing only atoms occuring in
both A and B, such that A = C and C = B.

1. Consider the following two formulas:

A=par(rvgat and B=((pvr)a(qgvi)

Do we have that

o A= B (= A= B)?
e BEA(=B= A)?

If one of those is true, give an interpolation formula.

2. Consider the following two formulas:
A=[pvignar)a(gvt) and B=(svr)agnatap
Do we have that A = B or B = A?

If one of those is true, give an interpolation formula.

To construct the interpolation formula, use the method presented in
the proof of the theorem. Is this interpolation formula unique?

3. Consider the following two formulas:

A=[(g=r)ans] and B=((p=q =((p=r)

Do we have that A = B or B = A?

If one of those is true, give an interpolation formula.



4. Consider the following two formulas:

A= (pvgA(g=r) and B=x-p=r

Do we have that A= B or B = A?

If one of those is true, give an interpolation formula.

5. For
A=an(bve) and B=av(bac)

A= (p=¢q)=r and Bzxp=(¢=r)
A= (avbveyad and B=(avb Arcnad
Do we have that A = B or B = A?

If one of those is true, give an interpolation formula.



